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Paper I
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gyuent 1

Time Allowed : 60 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT @ A YU U= (50) Sgfas 937 foiel S yish YAl & (2) T 3R

| wId Gredn.

Directions :

Answer Question Nos. 1 to 5
based on either the English
passage or the Marathi passage :

A sanctuary may be defined as a
place where Man is passive and the
rest of Nature active. Till quite
recently, let me tell you, Nature had
her own sanctuaries, where man
either did not go at all or only as
a tool-using animal in compara-
tively small numbers. But now, in
this machinery age, there is no
place left where man cannot go
with overwhelming forces at his
command. He can strangle to death
all the nobler wildlife in the world
to-day. To-morrow he certainly will
have done so, unless he exercises due
foresight and self-control in the mean
time.

There is not the slightest doubt that
birds and mammals are now being
killed off much faster than they can
breed. And it is always the largest
and noblest forms of life that suffer
most. The whales and elephants,
lions and eagles, go. The rats and

T

q9T wHieh 1 @ 5 § e faoear
IATATEX SATeMA TRA.  FUSA
ferar TSI SaT=ma’iel Yyl STt
ol o

IR Ao T fafimse Fe o,
A 3T”. IRl Tehl TToEd,
foaRIeRe, STERUTeEd 9RdE HI™
TR YR 9. Tehl IS HTI
T AR AUE SRR AR, ' SRl
U TNTA i aEe, B ©N UYT @l
T YR N Y qHETE § e
fe FHASA BTN AR, WUED Al
THTSIET TehIcH il defie foamaart
fafaeda werar’ o =oon el A
e HTSTE Tl e Tad, T
AT oT6dl g@mad A SAT90 Teh
JETE! Ui Boggog Tofardl ad. GEA
I AAEE T 9RA § Hhelid Tk T2

[P.T.O.



flies, and all mean parasites, remain.
This is inevitable in certain cases.
But it is wanton killing off that I
am speaking of to-night. Civilized
man begins by destroying the very
forms of wildlife he learns to
appreciate most when he becomes
still more civilized. The obvious
remedy is to begin conservation at
an earlier stage, when it is easier
and better in every way, by
enforcing laws for close seasons,
game preserves, the selective
protection of certain species, and

sanctuaries.

I have just defined a sanctuary as
a place where man is passive and
the rest of Nature active. But this
general definition is too absolute for
any special case. The mere fact that
man has to protect a sanctuary does
away with his purely passive
attitude. Then, he can be beneficially
active by destroying pests and
parasites, like bot-flies or mosquitoes,
and by finding antidotes for diseases
like the epidemic which periodically
kills off the rabbits and thus starves

many of the carnivores to death.
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qegd. 3 SIS WE| e 8. 9O

WEW T 99-9g= 9% Fedd Il

AR ATMSqu feshael BId.  wTor=Al
GRS g8 STAT9e SRS ol e Bl
IR AT FHRH el ey auia
T -9 FeoU Bacl SR, S el
TR WrERad faeie Foa™ o1

MU FANS AAfARGRTl TR el
M. B TREE WEwd wEE S
T W i =@, o SR
3 FHSH W feerelt e, sfhn

T W Ted T-Sesl auidedn o
TBdsal Ush 3ifqH gRumg 3TR. Wehl
TR HIGAl GHHAUIT WRAE  HHTSTE
EEE A SR, M AN STl

AT HLOGE ATd Hewd™  HIEH
3. T URfad omfor Fesl IyaTsd

FHACAT WIS FIEARA o Fehe Bl

qod Jd HEhdE S 3 STERIY

A, q9 U e fRudi-




But, except in cases where
experiment has proved his
intervention to be beneficial, the less
he upsets the balance of Nature the
better, even when he tries to be an

earthly Providence.

In the passage, it is implied by the
author that his first definition of a
‘Sanctuary’ is :

(A) somewhat idealistic

(B) quite wrong

(C) completely unacceptable

(D) difficult to defend

The author seems to be much
concerned about the active role of
man in protection of animals

because :

(A) he is afraid of the fact that it
would lead to the imbalance of

the ecological system

(B) he is sure that it is beneficial

for the mankind itself

(C) he thinks that man’s
passiveness is not a sign of his

being alive

(D) he is more idealistic
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SEfl Epdrel wagdl oA aeid
HEHdr=l AIHEE d B HIS HEH
3ME. ATEHATET FEER o S HEhdd
frmfor 21, N FEpden S

hodUld IR ATEl.

IR AOE SRR 37e, R0

(A) =T FETHSTRT

(B) W= TeHTcHahdl

(C) =t GeeTgierd

(D) = I GHHTIA

IR FoSeeeen & afgesgul o
it <ff STara Joma Yk THTSTSRTe
R SR WA URE ST

(A) |qui faum sleR

(B) ¥qui faum I

(C) gatd s, ITE I

(D) gEtd ¥, ITY e
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The above passage can be :

(A) a part of an article in a scientific
journal

(B) an argument in front of the
court of law

(C) a part of a speech delivered to
an educated audience

(D) an extract of a scientific report

The author intends to convey the
message that :

(A) Man is quite a clever animal

(B) If the man failed to maintain
the ecological balance, it will be
harmful in the long-run

(C) Man wishes to destroy the wild-
life as it is harmful for his
existence

(D) The balanced ecosystem will
decrease the importance of man
in the overall affairs of the
universe

The tone of the author can be best
described as being :

(A) descriptive
(B) humorous
(C) narrative
(D) sarcastic

According to Dr. Deval, communi-
cation means :

(A) Sharing of ideas

(B) Sharing of experiences
(C) Perception

(D) Sharing of emotions

JUN-00119/I—B
IRd T Fela T T oad; RO :
(A) GHUYTET ST

(B) WIS 3T

(C) SISl T
(D) ifoeh FHGT

ST ST ST gef¥es S
T S A A STA; @ Sl TR

o ~ fa Lo
SHICUTH AT UHITHT HIFAT dleld

A,

(A) Fqut faum 9=

(B) ¥qui faem sdeR

(C) gatd R, STd I%
(D) gaie ek, ITY TR

TSHATAT TfYeTeKi= HILAH hI0d ?

(A) FHS

(B) 7=

(C) H&Hdl

(D) wreT

Tl g A=A T, YW RS
(A) HTIATE HHIIHR R

(B) 3TVAT™ HHIEIR RO

(C) efersiied

(D) WIS HTHIh 1SR L0]




10.

To select media to teach a lesson to
class, teacher should consider
objectives of the lesson, age group
of students, knowledge about media
to be used and :

(A) teaching methods
(B) teaching aids

(C) mass media

(D) evaluation system

Traffic signals are example of
.................... communication.

(A) mass

(B) non-verbal
(C) verbal

(D) one to many

Customers coming to mall and
sharing some common interest and
group based activities are steadily
increasing. This is the example of

(A) open
(B) closed
(C) peer to peer
(D) hierarchical

Sometimes mass media misleads
society because receivers are :

(A) heterogenous

(B) in large numbers
(C) illiterate

(D) critical

10.

JUN-00119/1—B
G 918 TRTeRfauamEst wreH=n e

AT et arer=h 3fese, faganet=n
FANE, IR STOM=AT ISR
IE 9 AL Hdd
g

(A) STEETTTIG
(B) Srerfore @
(C) w98 "I

(D) HoIHmEA FaEdl

ek famery @
TYIUTE IS0 8.

(A) 98

(B) ewmfsseh

(C) wmfsgeh

(D) ThIhST-3Th

TEEd Hianey ferEs Jaa o ST
TS fearsar Sei=t THAHTHER
QAT A o A HHRAT Sl

ﬁ ? Cirostlk'l 'g?l?-[ SIGIGE %_ ...............
TR Qe B

(A) HK

(B) 55

(C) Heshri-HeshKl

(D) Sviterg

EAGEE:! TIeE AT IR AT

ATedid R JY U
3THad

(A) FgEl (heterogenous)
(B) TE&A

(C) fmrer

(D) fafhcaen

[P.T.O.



11.

12.

In a game with two players X and
Y and given n (= 4) number of circles
drawn on a plane paper, alternately
each one of X and Y is suppose to
join two different circles which were
not already joined by a line. The
winner is one who joins the last
available pair of circles and the
game ends. If X starts the game
then :

(A) X always wins
(B) Y always wins
(C) X wins whenever n is odd

(D) Y wins whenever n is a power
of 2

In a classroom there are ten chairs
in a oW Cq, Cg, Cg, veeeveens , 10 Which
are labelled by numbers 1, 2, 3,
.......... , 10 arbitrarily but satisfying
the condition that &; < kj whenever
i < j, where kq, ko, kg,
are the labels given to the chairs
C1y €95 €3y wevreens , c10 respectively.
Then which of the following is
true ?

(A) For some i, k; = i
(B) There are two i and j such that
k. =1 and kj =]

l

(C) All labels must be distinct
(D) For every i, k; =i

11.

12.
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T Tame X Y § I ©erg. 3Ted
9 TH FIRER 1 (> 4) T @
3MRd; X 01 Y § TohHER T SFEL

q Seciedl T gl TMEEH Siredrd.

NN

SIECERSELIEC]

S YEeHl adessie]
T YAl SR X 7 Bl geard shall,
qal

(A) X 7 Sehom
(B) Y 7&Hl SR
(C) n fomm s@a W X fSHmm

(D) n & 9&I SHTAT HIdieh SR

A WY o
Tehl STl IR STl <@l Gl
C1,C95 Cgy «vennee » C10 Bl 1, 2, 3, ...... , 10

Tk <k ST < j & 3T oz T

TEAdeh! U fauH W e ?
(A) el 9, k; = i

(B) T i T Wby =i Tk =
(C) & ATHIRA ST 378

(D) 9% § W, k; =i




13.

14.

There are flowers in a basket which
are to be distributed to five persons
standing in a row. The second person
received half of the number of
flowers given to the first person, the
third person received half of the
number of flowers received to the
second person; the fourth person
received half of the number of
flowers received to the third person
and the fifth person received half of
the number of flowers received to the
fourth person. If the fifth person
received only one flower and there
is no flower remaining in the basket,

how many flowers were their in the
basket ?

(A) 31
(B) 32
(C) 16
(D) 15

If 6 men or 8 children complete one
task in 24 days, then how many days
will be required to complete the task
for 7 men and 12 children ?

(A) 12
B) 9
(C) 10
(D) 16

13.

14.
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TehT 2I9aid STHeIel Te s [ 39

ST e SR Jeial JHT0] area.

TE i e et R
g =reite gu=amen fredt |, <ie
e fag=amen e |®a 9 qEen
KRG dreAn sHaaeT e e fee.

SR Y K Tk Hd Heolel, O

oV (AW aY

(Hedidiel WenYl

ol fohdl 2
(A) 31
(B) 32

(C) 16

(D) 15

T 1 6 &8 fhal 8 Tol 24 feadm
ol HIA T qH HH 7 TES ST 12
ol et ferdt foaeia qof @ ?

(A) 12
B) 9
(C) 10

(D) 16
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15.

16.

17.

The area of a parallelogram is
128 em? and its altitude is twice the
corresponding base. What is the
length of the base ?

(A) 6 cm
(B) 7 cm
(C) 12 ecm
(D) 8 cm

Arrange the following terms in a
meaningful-logical order indicating
the correct sequence :

(1)
(2)
3)
(4)
6))
(A)
(B)

Grass

Curd

Milk

Cow

Butter
1—4—3—2—5
4—3—2—1—-5
€ 5—2—3—4—1
D) 4—1—-3—2-5

If the term HJLN is converted into
ILOR, then by the same principle

what could be the correct alternative
for the term DFHJ ?

(A) FHJN
(B) EHKN
(C) EGIL
(D) FHJN

15.

16.

17.
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TohT HHIGRYS HIh T &5hes 128 cm?
AT d T I FaAHd qrRTe gue
g, X O TErEl onet fhdt ?

(A) 6 cm
(B) 7 cm
(C) 12 ecm
(D) 8 cm

Trell foiedn Fehed AUl 9 dMfheh
TS HIgT AT SHH HIVAI O W :

(1)
(2)
3)
(4)
(5)
(A)
(B)
(®)
(D)

ST HJLN I@ &9 ILOR 3@ 2«
e, W = axa DFHJ I rd! shiorarn
T TR A ?

(A) FHIN
(B) EHKN
(C) EGIL
(D) FHJN

ad

<&

Ty

g

aroft
1—4—3—2—5
4—3—2—1—5
5—2—3—4—1
4—1—3—2—5

10
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18. ‘Parrots have green colour.” This | 18. ‘Wuern T fetan ome.’ ¥ faam
statement is a/an : THOTE 3718
(A) Perception (A) 934
(B) Inference (B) 31gAH
(C) Comparison (C) 3UHM
(D) Implication (D) 3Tt
19. Which of the following is/are the | 19. el fooien faummR nenf@ o
valid conclusions based on the s 3faq emeq 2
statements given below ?
faam= 1 :
Statement I :
e TMed el 3.
All donkeys are hardworking.
faeam 11 :
Statement II :
Some hardworking animals are &
human beings. freeref 1 :
Conclusion 1 : FE TMed Hg e
Some donkeys are hardworking. frews 2 -
Conclusion 2 : N -
cnlel lled HIAA JHled.
Some donkeys are human beings.
(A) 1 %
(A) 1 only
(B) 2 &
(B) 2 only
(C) 1 anfor 2 =
(C) 1 and 2 both
(D) Neither 1 nor 2 (D) 1 et 2 9o A
11 [P.T.O.
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20. Which of the following diagrams | 90 wefierdtst HivTd a3 Fat @
shows the correct relationship

Fehoq e oY e esifad ?

among :

Boys, Students, Girls Hﬁ> foremef, -ﬂ?ﬁ

(A) (A)

(B) (B)

(€

(©)

(D) (D)

QQQ@
000@

12



21. A

report regarding certain
examination is given below :

Total number of candidates
appeared = 1000

The number of male
candidates = 550

The number of candidates
passed = 700

The number of successful male
candidates will lie between the
Hmits oo, }

(A) 100 to 250
(B) 250 to 550
(C) 550 to 700
(D) 700 to 1000

21.
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o

feete

TRl TUEEEddl STgara 4e
e

THEEE JHe THY SHEER = 1000
W SHEAR = 550
T A SHSAR = 700

T FTeiean e TET

N AIGHE 3.
(A) 100 d 250
(B) 250 d 550
(C) 550 d 700

(D) 700 9 1000

Direction : T
Question numbers 22 and 23 9 ShHich 22 TMUT 23 T YEteT WifediaR
are based on the following e MR
information :
T wita eRtgrie | TeR
State | Total number| Ratio of | Percentage T T . “.
of male & |numberof| of post- o bl R :
female males to | graduate SRR i RGNS
employees | thatof |among total e SRR
female employees Tremgart
employees
A 20,000 13:7 60
A 20,000 13:7 60
B 30,000 8:7 50
B 30,000 8:7 50
C 25,000 5:5 64 ¢ 25,000 5:5 64
D 40,000 14:6 72 D 40,000 14:6 72
E 10,000 6:4 42 E 10,000 6:4 42
13 [P.T.O.



22.

23.

Find the number of male employees
in state D :

(A) 14,000
(B) 6,000
(C) 28,000
(D) 20,000

Find the number of post-graduate
female employees in state B :

(A) 8,000
(B) 15,000
(C) 350

(D) 7,000

Direction :

Question numbers 24 and 25
are based on the following pie-
diagram :

—

D
: Printing cost
: Cost of paper
: Royalty
: Advertisement charges
: Other charges

HOQw e

22.

23.
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D 91 TS qes FhRE= He
<hlel

(A) 14,000

(B) 6,000

(C) 28,000

(D) 20,000

TG Tl ARGRE B TsTHee §e&
<hlel

(A) 8,000

(B) 15,000

(C) 350

(D) 7,000

3 2 B LI

U9 wHIh 24 [T 25 T GEeA

AAB-IHFATGR RA e

A
B :
C:
D:
E :

14
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24. 1If the cost of paper is Rs. 16,000, | 24, SR *TemTI @9 16,000 T. 3&, ™
then find the amount of other o= TEE WEE FE
charges :

(A) 16,000 =.
(A) Rs. 16,000

(B) 10,000 =.
(B) Rs. 10,000
(C) Rs. 8,000 () 8,000 =.
(D) Rs. 12,000 (D) 12,000 =.

25. The tax deducted at source is 10% | 25. HEYAA &HIX 10% ST FL FIATH
of the royalty amount then the FOE Ry TR,
amount of tax paid is ............... .

(A) 1,200 =.
(A) Rs. 1,200

(B) 800 =.
(B) Rs. 800
(C) Rs. 1,000 (€) 1,000
(D) Rs. 8,000 (D) 8,000 =.

26. Which of the following is the correct | 26. IPTV o1 I I 3TAeR faeR

full form of IPTV ? NN
qe&lcTuehl ShIOT  ?
(A) International and Political
Television (A) 3IEIAA 3T Uifdfesma fafsgsm
(B) Internet Proliferation (B) sete wifamy fafegs
Television
(C) 3R Wifsgsa fdfegsH
(C) Inter Provisional Television
(D) Internet Protocol Television (D) =TI HIERRIAT <TelRsT
15 [P.T.O



27.

28.

29.

The world’s first computer, ENIAC

was developed in the year :
(A) 1945
(B) 1940
(C) 1955
(D) 1960

Which communication service has

been recently closed in India ?
(A) Postal service

(B) Landline

(C) Telegram

(D) Fax

For recruitment as a school teacher
in Maharashtra one must enroll

himself/herself on the web portal :
(A) Saral

(B) Maha Jobs

(C) e-Seva

(D) Pavitra

27.

28.

29.
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STl Ifeet Soresh (Wfames) = ot

o o

IEEd

a cpldla Al o

(A) 1945

(B) 1940

(C) 1955

(D) 1960

IRATT JEIaTdeh! IV HaTg Hal Jehd i

T HIUAT ST ?
(A) Zared 9l

(B) T (Teams)
(C) TR

(D) ®

werserd ferersh ®wuE MEd &
shesumait w@a: =t wrfedt gEradent

-~ .

S lUcdl dehd{odlal '1[C\°|U| AR h

e ?

(A) WA

(B) Wal wilsq
(C) 3-¥ar
(D) ferst

16
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30. Which statement among the | 30. yrdm fefsea U UuTeaEg A

following is not correct with respect H?.ﬁ?'l'ﬁ?ﬁ FoR foum g T 2

to National Digital Library of . .

India ? (A) T hg THRAT ToAE faumm=n

(A) It is a project by Department of S
Technology. (B) T feres! iy gfaw sween @

(B) It is a virtual repository of Srerforen T g SYl |
learning resources with single e,
window search facility. . . .

(C) T AT fSeamT STvrEeht= FesTqul

(C) Itis friendly to differently-abled

SOl .
learners.

(D) It is being developed at Indian (D) = E
Institute of Technology, e (.3, TR A
Kharagpur. FOE IAd IR

31. Convention on Ozone Depleting | 31. 37T FHH HIOMA TSI TISH=T TRERE

Substances iS alSO known aS : ............................... ‘%.UE@, Waﬁ

(A) Basel Convention (A) S8 gftve

(B) Montreal Protocol (B) tlTﬁjilFf PICICA|

(C) Ramsar Convention (C) THW 4o

(D) Conference of Parties (D) fafay <wm=m TRl 9fo]

32. Unit used to measure noise level is : | 32. % o=l ied HSIUATEIS! JEIeTIeh]
HI0d Teheh o9 SIId 2
(A) dJoule
(A) dJoule
(B) PPM (B) PPM
(D) dB (D) dB
17 [P.T.O.



33.

34.

35.

36.

Green India Mission was part of
the :

(A)
(B)
(®)
(D)

Millennium Development Goals
River Action Plan
Swatch Bharat Abhiyan

National Action Plan for climate
change

International Solar Alliance was
established to develop co-operation
in developing solar energy was
proposed by :

(A) Indian Prime Minister
(B) French President

(C) African Union

(D) European Union

Concentration of toxic chemicals
through food-chain result into :

(A) Accumulation
(B) Excretion

(C) Biomagnification
(D) Elimination

Technical and scientific education
was given in :

(A) Vedic system of education
(B) Pre-Vedic system of education
(C) Buddhist system of education

(D) Islamic system of education

33.

34.

35.

36.
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(A) T faem 3fEs
(B) &= foehm@ s
(C) W= YRd =AM

(D) SRS eSS Sl
BISE

AT GR TR & GR ST Fehrd

foehEaTEIS! <RIV GEATad shed BId 2

(A) YRAE FEA

(B) e USITEAe

(C) 3fthera JiTar

(D) FAfrEA i

I FHfor B feordt e
........................... e
(A) "=

(B) Se&si

(C) S fowaris

(D) =hTgd Rl

qitser o amfes fRreror ©
Ty foat S 8

(A) dfcer frem
(B) gE-dfcw ferarm
(C) dfge faam
(D) s&Aaeh e
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37. According to UGC list published the | 37. IS.H.A Ufag heledn IRITER
state with the most universities is : T oA Hata S ﬁ?{&lﬁﬁ%' TR
(A) Uttar Pradesh (A) ITI
(B) Maharashtra (B) HeRsg
(C) Tamil Nadu (C) difHesTIEg
(D) Rajasthan (D) TSt
38. For creation and development | 38. fafay %IKWI'@H'WT MOOC =#d%®
of MOOC courses in different faerfaa STt MHRD A 3116 U™
disciplines MHRD has notified IR T oo #
...... is one of the eight e i
national co-ordinators. 0
(A) Mumbai Vidyapeeth (&) g foaariis
(B) U.G.C (B) fagamdie e1qem 1™
(C) YCMOU (C) a=. HelRlbe  Had r°|<i\¢||“|ﬁ|d
(D) IIT Mumbai (D) 3T.3T3.3. ‘ﬁaé
39. Most of the State Universities are | 39. T°|§T‘|T§"i°f T %Fc(EITCﬂ% F I
............................. in nature. ey fagardis e1ed.
(A) Affiliating Universities (A) HeAfa
(B) Deemed Universities (B) AfyHa
(C) Self-financing Universities (C) w@F-31d eIt
(D) Private Universities (D) @St
40. Which organization arranges | 40. WIS FehTerhi™ hIH ShIUR STEATIT
administrative course for principals ? AT e 2
(A) HRD Ministry (A) HIS FHET HA
(B) UGC (B) !
(C) T qerforer feem 9 wemeA
(D) NCTE D) T e o aikeg
19 [P.T.O.



41.

42.

The reflective level teaching is :

(A) teacher-centered and subject-
centered but not learner-

centered

(B) not teacher-centered but is
subject-centered and learner-

centered

(C) teacher-centered and not
subject-centered and learner-

centered

(D) neither teacher-centered nor
subject-centered but is learner-

centered

The adult learner is :

(A) peer-motivated

(B) self-motivated

(C) family-motivated

(D) society-motivated

41.

42.
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fomett waedia ereamq

(A) Toegerengl a7for faorehsl 19 J1

qegTeiehsl TH.

(B) Toiererengl 99 A fawengl amfor

qegTTeiehal ST

(C) Toegerendl 318d AT faoeng anfon

qeggeiehsl THd.

(D) forarershst Tod ad= fawengl T0d

s STemTeiagl ST
e steefl
(A) HereArt-uita sradl
(B) T=rufid sl

(C) Hea-uRa st

(D) gHNORE 79l
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43. Massive Open Online Courses | 43. Hif¥eg U Mg g (MOOCs)
(MOOCS) are - W ............................. a_q..
(A) flexible and open form of self- (&) (Mass)
directed y . _ FRferd wdd, adafas sfo
irected, online learning - L .
@iﬁé?l d, ot E@lle HlHle
designed for mass participation S
(B) flexible and open form of (B) BT yamoTediel (Mass) SE9IIERET
teacher-directed, online aferd sdd, wafas afo
learning designed for mass Trgren—feeiid, gor TW&dr SAeTEA
participation AT
(C) flexible and open form of self- (C) e FHEI (Mass) HEHTEIS!
directed, off-line learning sfe wdd, qafas s
. . WHeea, Jo e AR
designed for mass participation
SIS PE|
(D) flexible and open form of D) 7 et (Mass) 5
teacher-directed, off-line aferd 99 wafgs i
learning designed for mass forersh-fadefta, qaq wwwur=
participation Shele 3TeaA
44. Modern teaching support system | 44. ST&AUI=A1 SMYMh HERAYT TUMCHE
includes A a.l. W g'bl?h
(A) Smart Boards (A) = aeq
(B) Green Boards (B) W4 @y
(C) Charts (C) &
(D) Maps (D) &I
21 [P.T.O.



45.

46.

47.

Which of the following is not

applicable to the internal

assessment ?

(A)

Integration of teaching and

evaluation

(B) Testing of skills and abilities

(C) Periodic and continuous
(D) Use of only achievement tests

Dialogue method of discovering the

truth was given by :
(A) Plato

(B) Socrates

(C) Froebel

(D) Herbart

If one variable is measured on
nominal scale and other variable is
measured on interval scale, the

appropriate research method will

be :

(A) Experimental method
(B) Case-study method
(C) Cross-sectional method

(D) Correlation method

45.

46.

47.
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ST JEIHIIATAT, WUk HTd TR

Ied A& ?

(A) areaua tfor gegmuT ar|
THCHIHLOT

(B) ®IeTed i efan A<l oo

(C) wHFHIT® (periodic) 3fUr fRaX

(continuous)

(D) $hds HURH ST STAN

AN EATEES=  HaRuSd]
BRI

(A) =&

(B) fshH

(C) hrsiet

(D) T

ST T 9 AT JUeR (nominal
scale) ISl S 38 M0 TR =
ATRAVTR (interval scale) AT ST
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48. Which of the following is not a | 48. wleidds®l &Ivd AT &S
characteristic of good hypothesis ? (hypothesis) af¥rses A& ?
(A) Testability (A) TTOTHOTETHT
(B) Objectivity (B) Sl
(C) Complexity (C) Tard
(D) Conceptual clarity (D) FeeETs2d
49. If mean and median of a frequency | 49. <X IR faaiom=s weFgE 3707
distribution are 20 and 22 A ST %A 20 d 22 A, W
respectively’ then the mOde Of the a_l_ i‘\qd{uua ®|§('I°h ............................
distribution will be : 3.
A 21 (A) 21
(B) 16 (B) 16
(C) 26 (C) 26
D) 11 D) 11
50. Using someone else’s research | 5q THN GYe MEEeh 9 99 A 2
without due acknowledgement is e S T SR T
called as :
(A) HIdRIEE
(A) Copyright
(B) aremIEd
(B) Plagiarism
(C) Publication ©)
(D) Patent (D) T Th
23 [P.T.O.
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ROUGH WORK
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